EE–111 / BM–131  Computer Programming Lab Exercises

Dec.11th, 1997 

1) Type the following program, correct syntax errors if any, and run it to determine what it does. Then rewrite it so that it uses a while loop. 


#include <stdio.h>

#define SPECIAL_SLOPE 0.0

main() {


double slope, y2, y1, x2, x1;


printf(“Enter four numbers separated by braces.”);


printf(“\nThe last two numbers cannot be the “);


printf(“same, but\nthe program terminates if “);


printf(“the first two are.\n);


printf(“\nEnter four numbers> “);


scanf(“%lf%lf%lf%lf”, &y2, &y1, &x2, &x1);


for (slope = (y2-y1) / (x2-x1);


     slope != SPECIAL_SLOPE;



slope = (y2-y1) / (x2-x1)) {


   printf(“Slope is %5.2f.\n”, slope);


   printf(“\Enter four more numbers> ”);


   scanf(“%lf%lf%lf%lf”, &y2, &y1, &x2, &x1);


}


return(0);

}
2) Write a program that prints 26 lines, each containing an integer from 0 to 25 and its square.

3) Write a program that reads in a one-character class id and determines (i.e., prints out) the appropriate ship class according to the following decision table. 

     You need to write two versions of the program one using the if-then-else construct and the 

     other  using the switch construct.

	Class ID
	Ship Class

	B or b
	Battleship

	C or c
	Cruiser

	D or d
	Destroyer

	F or f
	Frigate


4) Write a program that reads data values and multiplies them together as long as the product remains less than 10,000. It displays the product calculated up to this point just before asking for the next data value. (Hint: The product of the data seen so far is updated on each iteration by executing the statement product = product * item; )

